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Find the slope of the lines that pass through the following points. 

1.) (3,-7) and (5,-13) 2.) (-1,5) and (7,1) 3.) (-5,12) and (-13,6) 

 

 

 

Find the rate change in each chart below. 

4.)  x y  5.)  x y 

 -2 -5   2 7 

 -1 -3   4 5 

 0 -1   6 3 

 1 1   8 1 

 

Determine the slope of the lines shown in the graphs below. 

6.)  7.)  

 

 

 

 

 

 

 

 

8.) Complete the table of values below.  Then, graph the linear function. 
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For 9 – 10, write each equation in the form y =mx +b .  Graph the lines on the graph paper provided. 

9.) x −y = 3  10.) 2x − 5y = 20  

For 11 – 14, find the equation of each line and graph the lines on the graph paper provided. 

11.) Equation of a line that has a slope of 5 and a  

y-intercept of -1. 

12.) Equation of a line that has a slope of -3 and passes 

through (2,1). 

13.) Equation of a line that has a slope of 
2
3

 and passes 

through the point (-3,-3). 

14.) Equation of a line that has a slope of ½ passes 

through (4,4). 

 

Selected Answers: 

1.)  -3  2.)  -½   3.)  ¾  4.)  2  5.)  -1   

12.)  y = -3x + 7   13.)  2
1

3
y x= −    14.)  

1
2

2
y x= +  
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